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1.

(1)

(3)

(5)

ROEGM% 1 OoDHRERTEE. (S0, Ak1530%, Bk, C#34)

FHa,b,cDHIBAHLED1D2F0THS. (2 FHa,bclcrl T
a+b+e=0D02ab+bc+ca=0

FEH a,b,clcH L Ta=b=c (4)  Fa,bcltRLT
a+b=0XlEb+c=0NlEc+a=0

T x,y,zD) AR LS 1 DFallFEL V. 6)  FEHa,b,cDVBTNY 0 TR,
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2. XOFMz 1 OO TEE. (Sl Ak1740%, B2, C#357)

(1) FHa,b,c2TOTHS. (2)  FHa,bclxtLT
a+b+c, ab+bct+ca DELLDIE0TH .

(3)  FEHa,bclcHLT (4)  FHa,bclcL T
a=1»2b=222c¢=3 a,b,c DT ND 2 DIFHL .
(5)  FEHKaxidabcDOTRPLIHEL L, 6)  FEHr,y,zD0TND a TEE.
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RETFAN RER LA FEAEHE 01 RBREEH
ROEGM% 1 OoDHRERTEE. (S0, Ak1530%, Bk, C#34)
FHA B, CITRLT,

*XA=0XEB=0XIEFC=0 & ABC=0
X A=0bh2B=0Hh2C=0 & A2+ B24+C%2=0 (|[A|+|B|+|C|=0TH&KW. )

(1) FFabcDHIBPnl b 12130 THS. (2)  FE¥a,bclciLT
a+b+ec=0D02ab+bc+ca=0

Sa=0XIgb=0NlFc=0
S (a+b+c)2+(ab+bc+ca)? =0

< abc=0
Yl la+b+c|+|ab+bc+cal =0
YOl 2
c=—(a+b) LT, 9 1 2ORIRATIUL,
ab+ (a+b) x {—(a+0b)} =0
< ab= (a+b)?
(3)  FE#abclilTa=b=c (4)  FE¥a, bl LT

a+b=0XlEb+c=0NlEc+a=0

Sa=b0Db=chrDc=a
< (a+b)(b+c)(c+a)=0
Sa-b=022b—c=00Dc—a=0

Sa-b2+b-c)+(c—a)?=0

YOEL (a—b)2+(b—c)2=0
Y2 [a—b|+|b—c|+]|c—al=0
YBlfE3 |a—bl+|b—c|=0

b w26 H 3.

(5)  FEEx,y,zDHI LR ED 1DFallFEL . 6)  FEEa,bcDOTNDH 0 TR,
Sr=aXlFy=aXltz=a SaF0DPDbA0DDc#0
S Ta=0XEb=0XZc=0, TlE&\W.
Sr—a=0XFy—-a=0XlFz-a=0 (" F-BAHCOEEA)
< abc #0

& (@—a)ly—a)(z—a)=0
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RDGM%E 1 OO0 TRE. (SHK1, AR15 408, B2, CH347)

(1)  EHabcEBTOTHS.

Sa=022b=022c=0

Sa24+b24+c2=0

(3)  FE¥a,bclcrl T
a=122b=222c=3
Sa—-1=022b—-2=022¢—3=0
S (a—-1)24+b-2)2+(c—3)%2=0

SR [ — 1|+ [b—2|+|c—3] =0
ftlc b Db b %

(5)  FEEzla b cDOTRITEL .

Sr=aNlTz=bNlTzr=c
Sr—a=0XFz-0b=0XlFz—2=0

S(x—a)(x—b)(x—c)=0
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(2)  FEFa bl T

a+b+c, ab+bc+ca DELLENIE0TH .

< (a+b+c)(ab+bc+ca) =0

(4)  FEBa,b,clcxtL T
a,b,c DT ND 2 DIFFHL o,
Sa=bXlib=cXldc=a
Sa—-b=0XlEb—c=0XlEc—a=0

< (a—-b(b—-c)(c—a)=0

6) FEHzr,y,zo0TNbaTEAR.

SaxtadPDytabDz+a

SlTe=aNiFy=aXiF z=0a) TiER\.
(RS OB

& (x—a)(y—a)(z—a) £0
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